Name:  _____________________________ (please print)
Signature: __________________________

ECE 3355 -- Quiz #4
July 13, 2016

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.
2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.
3.  It is assumed that your work will begin on the same page as the problem statement.  If you choose to begin your work on another page, you must indicate this on the page with the problem statement, with a clear indication of where the work can be found.  If your work continues on to another page, indicate clearly where your work can be found.  Failure to indicate this clearly will result in a loss of credit.  
4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.
5.  Do not use red ink.  Do not use red pencil.
6.  You will have 30 minutes to work on this quiz.


________________/20

Room for extra work

Assume that the diodes can be modeled using a piece-wise linear diode model with Vf = 1[V], rd = 1[k], and Is = 1[mA].  Find VA .  Show your work, stating your tests explicitly.  Define all variables appropriately.  You are expected to be able to complete at least two guesses in the time period allotted.  












Room for extra work

ECE 3355 -- Quiz #4 – July 13, 2016 – Solution

Assume that the diodes can be modeled using a piece-wise linear diode model with Vf = 1[V], 
rd = 1[k], and Is = 1[mA].  Find VA .  Show your work, stating your tests explicitly.  Define all variables appropriately.  You are expected to be able to complete at least two guesses in the time period allotted.  


[bookmark: _GoBack]




image4.png
Guess Da in er"oﬂ Y ) DB A Rea-“on A .

Redvaw
iR§en) ’ e vs  Loe

Kel]

Up +72.9843 " Va =30/v) . Ua —15(v) -
.71 {kn) 13fkn) 270en3

Solving:| vy = ~3.C58y)

Lop = (90 +3.¢8) ]

3k = ). gQ{m AJ
Log = (3.es-18)5)
27 &k 13 - eTAuAg

T‘t} A
Tt Log 207 Pes

Ts -lfma)<ipg &£ 07 Yes

Up =Va =[-3 e8]

G'ODA ﬂueSS,




image1.emf
V

X

-15[V]

12[k



]

+15[V]

7.2[k



]

2.2[k



]

-15[V]

3[mA]

-15[V]

27[k



]

+15[V]

V

A


oleObject1.bin
7[A]


2.2[k]


VX


-15[V]


-15[V]


12[k]



image2.png
+15[V] .
] +15[V] lp

7.21kQ)
27k 2 D

3[mA]

BV sty s

Be'![ore vvsakfnj Juesses, we c%oos: 'f‘o g,‘m/a/.‘{}:

b}' fﬁk?nj the Thevenin er7u€v41e/,‘t' of quts of
the circut. To the left of Dpy we can apply

a Source tvansfor mation, Vi = 3wA)13fkn)= 34507,
Ths iS5 3CLu) with respect 0 —iSfu) which means a

Thevenin voltage of Al fv) with Vf.r/oec‘(' to gvound.
For the circuwt betweeq the diodes,

A
UTH = 300y 23”2)-15@] = -7.98{V]

Rew = Aa(en))] 7.3fknd = 171 (k2]





image3.png
From tl\?S) it a/o}peaw; that DA s foruard biased,
ank DB M reverse brased. So, T choose to

6'1,16.55 DA, ;n erl‘ofl 17‘) DB s Rc’j"on , R

Red raw
jafeny 2v3 .quH;,@"AJ

(wry

el ]

Vp +7.988v7 Un +1{v]-215y)
.71 fe5) 13 k23 I
Soluin :
© 5 VA = _SQQZV}

lpa = 2003 +3.320) :
Zesadn) s
13 5kn3 }"767[ $

Ve -
P& = =32apv) - (isfu) -753)=5.788v]

-]:’ESE} IS ZDA ZO? VCS

Ls Ub@ -(:'07 NO' Bad Guess.




